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Note: (a)All questions are compulsory.

(b)Marks are indicated against each question in square brackets.

(c) The candidate is allowed to make Suitable numeric assumptions wherge ler

solving problems N 5

1. Consider the IMDb database of the following movijs

S.No Movie Name L (In | Genre
% Minutes)
1 Mission-2 160 Action
Gadar-2 170 Action
168 Comedy
155 Comedy
190 Action

[CO-6] (7]
pe showing interest in personal loan from a reputed public sector bank.
V%epresents their age(in years), salary(in Indian rupees) and income from
-otfier sources(in Indian rupees). So the data is represented as Ram(20,35K,10K),
ifa(® {,25K,5K),Laxman(50,20K,12K),Anil(40,20K,2K),Prem(45,50K, 15K),Sunil (21,46
Re1 SK), Sourabh(23,32K,11K) and Meenu(32,27K,13K). The bank manager’s task is to
eck whether the person is rich, medium earning or poor based on the given data. Use k-
clustering algorithm technique based on Euclidean distance to ease manager’s
task. [CO-5][10]
3. Consider the given below feed forward neural network:
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The initial input, weights and biases are given as follows:
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The learning rate is 0.9. The target outpt
for back propagation learning mech

the given tuple {1,0,1}. Do the dry run
nsidering the above ANN. Also write the

pseudo code of back propagation al d discuss its complexity. [CO-4] [10]
4, Consider the weather data set 2
Outlook Windy Play
Sunny False No
Sunny High True No
High False Yes
High False Yes
Normal False Yes
Normal True No
Normal True Yes
i High Falze No
% Normal False Yes
i Normal False Yos
\ Normal True Yes
ﬁ(}vercast Mild High True Yes
Overcast Hot Normal False Yes
Rainy Mild High True No
Predict the humidity for the information {Outlook= Sunny, Temperature=Hot,
Windy=False, and Play=No} [CO-4] [8]
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